A PROBLEM ON SUMMATION OVER HISTORIES IN QUANTUM MECHANICS

Ъy

A. M. Arthurs

Mathematics Research Center and Theoretical Chemistry Institute University of Wisconsin, Madison, Wisconsin

ABSTRACT

17067 The transition amplitude corresponding to a Dirac particle is evaluated as a sum over histories by a method based on unitary equivalence properties and the canonical formalism of quantum mechanics.

- - - - -

* Sponsored by the Mathematics Research Center, United States Army, Madison, Wisconsin, under Contract No: DA-11-022-ORD-2059 and the University of Wisconsin Theoretical Chemistry Institute under National Aeronautics and Space Administration Grant NsG-275-62.

1. Introduction

The sum over histories representation for the transition amplitude (or propagator) occurs in Tobocman's approach [5] to quantum mechanics. This approach is based on the canonical formalism of quantum mechanics and represents a generalization of the Feynman path-integral method [4]. A related canonical treatment has also been given by Davies [3].

The difficulty with these functional integral methods is the actual evaluation of the expression for the sum over histories. Cases which have been explicitly evaluated are those corresponding to the free Schrödinger particle and the harmonic oscillator [2], to the Dirac field [5], and to classical wave motion [1]. One of these cases, the Dirac field, involved non-commuting operators in the exponent, and the evaluation of the transition amplitude was accomplished by means of a Hilbert hyperspace approach [5]. Essentially the same operators occur in the transition amplitude for a free Dirac particle, but this case can be treated by a different method based on unitary transformations in Hilbert space.

2. The transition amplitude

Consider a physical system with position coordinate $q_i(t)$ and canonical momentum p(t). For the sake of simplicity we restrict ourselves to a system with one degree of freedom. The generalization to a system with n degrees of freedom can readily be made. Let H(q,p) be the Hamiltonian for the system. Then the transition amplitude G(q''t''; q't') connecting states at times t' and t''

may be written [5]

$$G(q^{"}t^{"}; q^{\prime}t^{\prime}) = \lim_{n \to \infty} G(q_{n}t_{n}; q_{n}t_{n}), \qquad (1)$$

where

$$G(Q_{n}t_{n}; q_{o}t_{o}) = \int \frac{dp_{i}}{2\pi} dq_{i} \frac{dp_{i}}{2\pi} dq_{2} \dots dq_{n-1} \frac{dp_{n}}{2\pi}$$

$$\times \exp\left[i\sum_{r=i}^{n} \left\{ p_{r}(Q_{r}-Q_{r-1}) - H(Q_{r}, p_{r})(t_{r}-t_{r-1})\right\}\right].$$
(2)

Here, the time interval (t', t'') has been divided into a large number of parts

$$t' = t_{o} < t_{i} < t_{2} < \cdots < t_{n} = t'',$$
 (3)

and

$$Q_r = Q(t_r), p_r = p(\tau_r)$$
 with $t_{r-1} \leq \tau_r < t_r$, and

$$\varphi_o = \varphi' , \quad \varphi_n = \varphi''. \tag{4}$$

Equations (1) and (2) give the transition amplitude in the form of a sum over histories. These histories correspond to classical trajectories in that the coordinate and momentum are specified at each instant. However, these are not true classical trajectories since there is no relationship between velocity and momentum.

We may write the transition amplitude in terms of functional integrals as

$$G(q^{"}t^{"}; q't') = \int \delta(q(t)) \int \delta\left(\frac{p(t)}{2\kappa}\right) \exp i S_{pt} , \qquad (5)$$

with

$$S_{pq} = \int_{t'}^{t''} \{ p dq - H(q, p) dt \}.$$
 (6)

In (6), the subscripts p, q_{ℓ} denote any history of the system specified by two arbitrary functions of time $q_{\ell}(t)$ and p(t)subject to the restrictions

$$Q(t') = Q', \quad Q(t'') = Q''.$$
 (7)

Thus S_{pq} is the action (or, to be precise, Hamilton's principal function) for a history pq. In (5), the integrations, by their definition in (2), mean a sum over all paths in momentum space as well as in coordinate space, with p unrestricted and q, subject to the conditions of equation (7).

Tobocman [5] has shown that the expression (2) reduces to the Feynman functional integral in the case when the Hamiltonian is classical in form and quantization is carried out in terms of commutators rather than anti-commutators. 3. Dirac particle of a Casternal of the state of the stat

Consider a particle of mass m moving with one degree of freedom according to the Dirac equation

$$H\psi = i \frac{\partial \Psi}{\partial t} , \qquad (8)$$

with

1. - . 1. i

s. . .

.

, ·

$$H = -\beta m - \alpha p , \qquad (9)$$

where ∞ and β are the Dirac matrices which satisfy the relations

$$\alpha\beta + \beta\alpha = 0, \quad \alpha^{2} = I, \quad \beta^{2} = I, \quad (10)$$

where I is the unit matrix. The action S_{pq} for this system may then be written as

$$S_{pq} = \int_{t}^{t} (p dq - H dt)$$

.

$$= \sum_{r=1}^{n} \left\{ p_r (q_r^- q_{r-1}) + \beta m (t_r^- t_{r-1}) + \alpha p_r (t_r^- t_{r-1}) \right\}$$

$$= \sum_{r=1}^{n} p_{r} (q_{r}^{-} q_{r_{i}}) + \beta b^{-} + \alpha a_{i}, \qquad (11)$$

where

$$\mathcal{A} = \sum_{r=1}^{n} p_r (t_r^- t_{r-1}), \quad \mathcal{b} = m \sum_{r=1}^{n} (t_r^- t_{r-1}) = m (t_r^- t_r^-).$$
 (12)

Hence

(. N

14.1

 $\{ a_{i}, j_{i} \}$

$$exp i S_{pq} = exp \left\{ i \sum_{r=1}^{n} pr(q_r - q_{r-1}) + i\beta b + i\alpha a \right\}$$

= $exp \left\{ i \sum_{r=1}^{n} pr(q_r - q_{r-1}) \right\} \cdot exp \left\{ i\beta b + i\alpha a \right\},$ (13)

where we have used the fact that the first term commutes with the second and third terms.

Now in order to evaluate the functional integral (5) exactly, we must be able to write the second exponential factor in (13) as a <u>product</u> of exponentials. From the operator identity given in equation (A8) of the Appendix we see that this cannot be done for (13) as it stands.

To get round this difficulty we shall transform the problem into a unitarily equivalent problem.

and for the

4. Unitary transformation

Let K be an Hermitian operator and consider the unitary transformation defined by

$$G' = e^{iK}G e^{-iK}.$$
 (14)

Then it follows that the transition amplitude for the transformed problem is given by

$$G'(q't;q't') = \int \delta(q(t)) \int \delta(\frac{p(t)}{2\pi}) \exp i S_{pq}, \qquad (15)$$

where

$$S'_{PL} = \int_{t'}^{t} \left\{ pdq - H'(q,p)dt \right\}, \qquad (16)$$
with

$$H' = e^{iK}He^{-iK}. \qquad (17)$$

tel an in a para Equations (15) and (16) provide an alternative to (5) and (6) for the evaluation of transition amplitudes.

an hara

ŧ.,

e., . ,

5. Transition amplitude for Dirac particle. 1.1

For the Dirac particle with Hamiltonian $H = -\beta m - \alpha p$ we choose

.,

$$K = k\beta, \qquad (18)$$

where k is some number to be determined later. Then (10)

$$H' = e^{ik\beta} H e^{-ik\beta}$$

= $e^{ik\beta} (-\beta m - \alpha p) e^{-ik\beta}$
= $-\beta m - \alpha p \cos 2k + i\alpha\beta p \sin 2k$, (19)

since $\alpha\beta + \beta\alpha = 0$ and $\beta^2 = I$. The corresponding action is given by (16)

$$S_{pq}' = \sum_{r=1}^{n} \{ p_r(q_r^- q_{r-1}) + \beta m(t_r^- t_{r-1}) + \alpha p_r(t_r^- t_{r-1}) \cos 2k - i \alpha \beta p_r(t_r^- t_{r-1}) \sin 2k \}.$$

This may be written as

1

$$S_{pq}' = \sum_{r=1}^{n} \left\{ Pr(q_r^- q_{r-1}) + \beta m(t_r^- t_{r-1}) + \alpha Pr(\lambda_r^- \lambda_{r-1}) \right\}$$

$$-i\alpha\beta p_r(\lambda_r-\lambda_{r-1})$$
 tem b}, (20)

where we have put

1

$$k = b/2$$
, $t \cos b = \lambda$, (21)

and where h is the quantity defined in equation (12). It follows that

$$S'_{pq} = \sum_{r=1}^{n} p_r (q_r^- q_{r-1}) + \beta b + \alpha c - i \alpha \beta c tan b,$$
 (22)

. 7

where

$$C = \sum_{r=1}^{n} p_r \left(\lambda_r - \lambda_{r-1} \right), \qquad (23)$$

4 . :

and so

$$expis_{pq} = exp \{ i \sum_{r=1}^{n} p_r (q_r q_{r-1}) \} \cdot exp \{ i \beta b + i \alpha c + \alpha \beta c \tan b \} \cdot (24)$$

Using the operator identity given in equation (A8) we then have

$$exp\{isb\} = exp\{isb\} \prod_{r=1}^{n} pr(q_r q_{r-1})\} \cdot exp\{isb\} \cdot exp\{isd 2bc cosec 2b\}$$

$$= exp\{isb\} \prod_{r=1}^{n} \left[e^{ipr(q_r q_{r-1})} \left\{ I cos(pr(\lambda_r \lambda_{r-1}) 2b cosec 2b) + id sin(pr(\lambda_r \lambda_{r-1}) 2b cosec 2b) \right\} \right]. (25)$$

The summation over p-histories is now obtained from

$$\int \delta\left(\frac{p/t}{2\pi}\right) \exp iS'_{pq} = \int \frac{dp_{i}}{2\pi} \frac{dp_{2}}{2\pi} \cdots \frac{dp_{n}}{2\pi} \exp iS'_{pq}$$

$$= e^{i\beta t} \prod_{r=i}^{n} \int_{-\infty}^{\infty} \frac{dp_{r}}{2\pi} \left[\frac{1}{2}(1+\alpha) \exp\left\{ip_{r}\left(q_{r}-q_{r-i}+(t_{r}-t_{r-i})bcosecbr\right)\right\}$$

$$+ \frac{1}{2}(1-\alpha) \exp\left\{ip_{r}\left(q_{r}-q_{r-i}-(t_{r}-t_{r-i})bcosecbr\right)\right\}$$

$$= e^{i\beta kr} \prod_{r=1}^{n} \left\{ \frac{1}{2} (I+\alpha) \delta(q_{r}^{-}q_{r-1}^{-} + (t_{r}^{-}t_{r-1}) k \operatorname{cosec} kr) + \frac{1}{2} (I-\alpha) \delta(q_{r}^{-}q_{r-1}^{-} - (t_{r}^{-}t_{r-1}) k \operatorname{cosec} kr) \right\}, (26)$$

where we have used

5) 1

$$\int_{-\infty}^{\infty} dp \exp i pq = 2\pi \delta(q) \qquad (27)$$

The summation over histories is completed by integrating (26) over $\Psi_1, \Psi_2, \dots, \Psi_{n-1}$, so that $G'(Q''t'; Q't') = \int \delta(Q(t)) \int \delta(\frac{P(t)}{2\pi}) \exp iS'_{PQ}$ $= \int_{-\infty}^{\infty} dQ_1 \dots \int_{-\infty}^{\infty} dQ_{m-1} e^{i\beta b}$ $\times \prod_{r=1}^{n} \{ \frac{1}{2} (I+\alpha) \ \delta(Q_r - Q_{r-1} + (t_r - t_{r-1}) bcosecb) \}$ $+ \frac{1}{2} (I-\alpha) \delta(Q_r - Q_{r-1} - (t_r - t_{r-1}) bcosecb) \}$.

Performing the integration over q_{i} we get

$$\int_{-\infty}^{\infty} dq_{1} \left\{ \frac{1}{2} (I+\alpha) \delta(q_{1}-q_{0}+(t_{1}-t_{0}) b cosec b) + \frac{1}{2} (I-\alpha) \delta(q_{1}-q_{0}-(t_{1}-t_{0}) b cosec b) \right\}$$

$$\times \left\{ \frac{1}{2} (I+\alpha) \delta(q_{2}-q_{1}+(t_{2}-t_{1}) b cosec b) + \frac{1}{2} (I-\alpha) \delta(q_{2}-q_{1}-(t_{2}-t_{1}) b cosec b) \right\}$$

$$= \frac{1}{4} (I+\alpha)^{2} \delta(q_{2}-q_{0}+(t_{2}-t_{0}) b cosec b) + \frac{1}{4} (I-\alpha)^{2} \delta(q_{2}-q_{0}-(t_{2}-t_{0}) b cosec b), \quad (28)$$

since

$$(I+\alpha)(I-\alpha) = 0, \qquad (29)$$

and

$$\int_{-\infty}^{\infty} dq \, \delta(q+v) \,\delta(w-q) = \delta(v+w) \,. \tag{30}$$

The integrals over q_2 , q_3 , ..., q_{n-1} can be evaluated in the same way and we obtain

$$G'(q''t'';q't') = e^{\frac{i\beta b}{2^{n}}} \left\{ \frac{1}{2^{n}} (1+\alpha)^{n} \delta(q''-q'+(t''-t') b \cos b) + \frac{1}{2^{n}} (1-\alpha)^{n} \delta(q''-q'-(t''-t') b \cos b) \right\}.$$
(31)

Using the relations

$$(I \pm \alpha)^n = 2^{n-\gamma} (I \pm \alpha) , \qquad (32)$$

and the inverse transformation

$$G = e^{-iK} G' e^{iK}, \qquad (33)$$

where

$$K = \frac{1}{2}\beta b, \qquad (34)$$

х., к. <u>Б</u>,

1. S.

·, ·

we have finally

35

13

11

Corp

J)

$$G(q''t';q't') = e^{\frac{i\beta b}{2}} \left\{ \frac{1}{2} (I+\alpha) \delta(q''-q'+(t''-t')) b \cos(b) \right\}$$

$$+\frac{1}{2}(I-\alpha)\delta(q''-q'-(t''-t')b-conc.b')\} e^{i\beta b/2},$$
with $b = m(t''-t').$
(35)

This completes the determination of the transition amplitude for a free Dirac particle.

APPENDIX

1. The operator $e \times p A e \times p B$.

ŧ.

ć.

The operator identity

$$expA \cdot expB = exp(A+B)$$
(A1)

is valid when the operators A and B commute. We wish to derive

the corresponding result when A and B do not commute. To do this we define

$$f(x) = e \cdot e \quad (A2)$$

where $\boldsymbol{\chi}$ is a real variable. Then

$$\frac{df}{dx} = Ae^{Ax}e^{Bx} + e^{Ax}Be^{Bx}$$
$$= (A + e^{Ax}Be^{-Ax})f.$$

Integration then gives

$$\exp(Ax) \exp(Bx) = \exp\left\{\int_{0}^{x} (A + e^{A\lambda}Be^{-A\lambda})d\lambda\right\}.$$
 (A3)

For $\mathcal{X} = I$ it follows that

$$\exp A \cdot \exp B = \exp \left\{ \int_0^{\cdot} (A + e^{A\lambda} B e^{-A\lambda}) d\lambda \right\}, \quad (A4)$$

which is the required generalization of the identity (A1).

2. Case AB + BA = 0.

When the operators A and B anti-commute, that is AB + BA = 0, the identity (A4) assumes a simpler form, since in that case

$$e^{A\lambda} = e^{A\lambda} = e^{2A\lambda} B, \qquad (A5)$$

a say to prove a

$$\int_{0}^{\prime} e^{2A\lambda} B d\lambda = (2A)^{-\prime} (e^{2A} - I) B. \qquad (A6)$$

Hence when AB + BA = 0 (A4) becomes

$$\operatorname{exp} A \operatorname{exp} B = \operatorname{exp} \left\{ A + (2A)^{-1} (e^{2A} - I) B \right\}.$$
 (A7)

We now apply (A7) to the case when

$$A = i\beta k$$
, and $B = i\alpha 2kc conec 2k$,

where b and c are constants and \propto and β are the Dirac matrices. It can then be readily shown that

$$exp(i\beta b) exp(i\alpha 2bc couc 2b) = exp(i\beta b + i\alpha c + \alpha\beta c tam b).$$
(A8)

References

....

٠

J

•

1.	Arthurs, A. M., University of Wisconsin Mathematics
	Research Center Technical Summary Report No. 618(1966).
2.	Davies, H., Proc. Camb. Phil. Soc. 53 (1957), 199.
3.	Davies, H., Proc. Camb. Phil. Soc. 59 (1963), 147.
4.	Feynman, R. P., Rev. Mod. Phys. 20 (1948), 367.
5.	Tobocman, W., Nuovo Cimento 3 (1956), 1213.